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1. Write appropriate Korean words for the
following: [10 x 2 = 20]
(a) cousin

(b) relative

P.T.O.
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(c) scissors

(d) to prepare

(e) maternal aunt

(f) unit for counting animals
(g) to have fever

(h) to wait

(1) dJune

(G) Vegetables

Conjugate the Korean verbs as shown in the
examples below: [10 x 2 = 20]

Example: 7}Ct = 7N &

() 7h2X|CH>
(b) 0[0F7|}Tt >
© 2ct>

@ Zct>

Example: 7tCt > Z2i &

(e) FLt->
¢ FSCH->
(8) &HCH~>
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Example: 7}Ct > 7tA 0@
(h) HFEC} >
@ ¢ck->
G) Hi%CH->
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3. Match the words given below and make one
sentence in Korean using each one of them:

() | to be kind

[10 x 2 = 20]

(@) | Leg I 50}
(b) | weekend 7
(c) | bicycle DELICH
(d) | subway EeT,
(e) | finger O| AFSHC}
(f) | waist 52|
(g) | colour XA A
(h) | to be out of order | =7
(i) | to shift house Ct2|

RS

4. Fill in the blanks with appropriate forms of the

verbs given below:

[5 x 4 = 20]

(@) M= =2 JIosia. s TFsta

o
HHEQIEHZ

(KIEP)

P.T.O.




(b)

(©
(d)

(e)
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st

o

SOISHAIE  EH4H0f

=AH0] O 7|0 A Z177k%{ 2. (ZFEh)

OfM H2Aol=27r 8% (B&IUAChH
L= AHOE FOtotA|Th QL= HILE
__ (F0IstLh

ZOMNE 25 OF80 =A __ =fuof

=AU (LI

Complete the conversation given below in
Korean: [5x4 =20]

(@)

(b)

(©

(d)

7t Rl==M] off O] A0l Xtz 2kR2?

|_|-;

7h: CIM], O 0| = oS 2AHOR?

Lh:obLl g,

7F HICIM|, 22| Al 2L 2 S| R?

L|-;
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L|-;

(e) 7k AFEIM], 72 Z0[0] 27 OT|7} Of LR ?

L|-;

Read the passage and write “True’ or ‘False’
according to the question given below:

[6x 4 =20]
23| weto| Azt #ELCh L 24 7Lt

O[XM= stulof o ZiLct OobHo| €% UOoE
2e7t gyt e e W 5 Oo[3std
HUAE X772 HSULL REl= ek 20
He AQYUch 22|n ohE TSt FRo

& ot Fet A B g AYLCH Oj? EAH2

(<]
o| £ A& L|LCt.

AN H

0L ojn J
208 >

(a) L= B0] AZfSA 2= LIC.
(b) Wi S5t HLA X|7[2 RS LT
(c) OM= OHE OFH Ol 2% LO{LtoFRfL Ct.

d L gt i Sis 2 AYLICH

O
=

P.T.O.



